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Chapter 6, Solution 5. 
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Chapter 6, Solution 6. 
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dvCi −==  x slope of the waveform. 

For example, for 0 < t < 2, 
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Thus the current i is sketched below. 
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Chapter 6, Solution 10 
 
 

dt
dvx

dt
dvCi 3102 −==  

 

⎪
⎩

⎪
⎨

⎧

<<
<<
<<

=
s4t316t,-64

s 3t116,
s10,16

μ
μ
μtt

v  

 

⎪
⎩

⎪
⎨

⎧

<<
<<

<<
=

s4t3,16x10-
s 3t10,

s10,1016

6

6

μ
μ
μtx

dt
dv  

⎪
⎩

⎪
⎨

⎧

<<
<<

<<
=

s4t3kA, 32-
s 3t10,

s10,kA 32
)(

μ
μ
μt

ti  

 
 
 
Chapter 6, Solution 11. 
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For 0<t <2,  i(t)=15mA, V(t)= 10+
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v(2) = 10+7.5 =17.5 
 
For 2 < t <4,  i(t) = –10 mA 
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v(4)=22.5-2.5x4 =12.5 
 

For 4<t<6,  i(t) = 0,           3
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For 6<t<8,  i(t) = 10 mA 
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Hence, 
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which is sketched below. 
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